
Name: Date:
Class:Teacher:

Multiplication/Division 512
What goes zzub, zzub, zzub? A bee flying backwards!

SOME of these have a remainder.

1. 2. 3. 4. 5.

6. 7. 8. 9. 10.

11. 12. 13. 14. 15.

16. 17. 18. 19. 20.

21. 22. 23. 24. 25.

26. 27. 28. 29. 30.

31. 32. 33. 34. 35.

36. 37. 38. 39. 40.

4 3 4 5 5

736 643 784 716 326

3 2 3 2 4

620 166 691 897 112

5 2 4 3 3

128 874 964 547 153

3 3 3 2 4

620 166 691 897 112

938 705 432 647 874

5 3 4 3 5

614 803 695 730 474

3 3 2 4 5

739 435 864 499 678

5 4 4 4 2

259 803 695 730 474

3 3 2 4 5

× × × × ×

× × × × ×

× × × × ×

× × × × ×
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Answer Key Date:
Class:Teacher:

Multiplication/Division 512
What goes zzub, zzub, zzub? A bee flying backwards!

SOME of these have a remainder.

1. 2. 3. 4. 5.

6. 7. 8. 9. 10.

11. 12. 13. 14. 15.

16. 17. 18. 19. 20.

21. 22. 23. 24. 25.

26. 27. 28. 29. 30.

31. 32. 33. 34. 35.

36. 37. 38. 39. 40.

4 3 4 5 5

736 643 784 716 326

3 2 3 2 4

620 166 691 897 112

5 2 4 3 3

128 874 964 547 153

3 3 3 2 4

620 166 691 897 112

938 705 432 647 874

5 3 4 3 5

614 803 695 730 474

3 3 2 4 5

739 435 864 499 678

5 4 4 4 2

259 803 695 730 474

3 3 2 4 5

× × × × ×

× × × × ×

× × × × ×

× × × × ×

234 235 108 129 174

3,680 1,929 3,136 2,148 1,630
204 401 231 365 118

1,860 498 1,382 3,588 560
147 217 216 166 226

640 3,496 3,856 2,188 306
86 267 231 365 118

1,860 498 1,382 3,588 560

R2 R0 R0 R2 R4

R2 R1 R2 R0 R2

R4 R1 R0 R1 R0

R1 R2 R2 R0 R2

© Facilitators Ferriswheel Score:


